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ESl =0
ESZ = Max. (ESl + d12 ) = Max. ( 0+3) =3

ES; = Max. (ES; + dy; ) = Max. (3+2) =5
ES, = Max. (ES; + dyy , ES; + d3y ) = Max. (3+6, 5+5) =10
ESs = Max. (ES; + dss , ES, + dys )= Max. (5+3 , 1047 (=17
ESq = Max. ( ES; + dyg ) =(10+3)=13
ES; = Max. (ESq + dg7, ESs + ds7) = (1342, 17+5) =22
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LF; - ES; =22
LFs=Min ( LF,—dg; ) = Min, (22 -2y =20
LFs=Min ( LF—ds; y=Min.(22-5 y=17
LF,= Min.( LF—dyg , LFs—dysy = Min.(20-3 , 17 -7 y =10
LF; = Min ( LF,—ds, , LFs—ds5y = Min (10-5 ,17-3 y-5
LF, = Min ( LF;—d,;, LF,—dy, )y = Min (5-2, 10-6y=3
LF, =Min ( LF,—dj; y=Min 3-3 ) =0
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